

# Stability of \*-derivations on Lie C\*-algebras

Ga Ya Kim, Seong Sik Kim and Soo Hwan Kim

Department of Urban Engineering, Dong-eui University Busan 614-714, Korea kimgya@deu.ac.kr

Department of Mathematics, Dong-eui University Busan 614-714, Korea sskim@deu.ac.kr

Department of Mathematics, Dong-eui University Busan 614-714, Korea sh-kim@deu.ac.kr

## **ABSTRACT**

In this paper, we investigate the stability and superstability problems for Lie \*-derivations associated with the generalized Jensen type functional eqution

$$f\left(\frac{\sum_{i=1}^{n} x_i}{n}\right) + \sum_{j=2}^{n} f\left(\frac{\sum_{i=1, i \neq j}^{n} x_i - (n-1)x_j}{n}\right) = f(x_1)$$

on Lie C\*-algebras.

### **KEYWORDS**

Stability; Superstability; \*-derivation; Generalized Jensen type functional equation; Lie C\*-algebras

## SUBJECT CLASSIFICATION

2000 Mathematics Subject Classification: 39B72, 39B82, 39B52



# Council for Innovative Research

Peer Review Research Publishing System

Journal: JOURNAL OF ADVANCES IN PHYSICS

Vol 5, No.3

japeditor@gmail.com

www.cirjap.com



### INTRODUCTION

The stability theory of functional equations mainly deals with the following equation: Is it true that the solution of a given equation differing slightly from an another given one must necessarily be close to the solution of the equation in the equation? A function equation is called stable if any approximately solution to the functional equation is near a true solution of that functional equation and is called superstable if every approximate solution is an exact solution to it. The study of stability problems of functional equations which had been proposed by Ulam [23] concerning the stability of group homomorphisms. The famous Ulam stability problem was partially solved by Hyers [8] for linear functional equation of Banach spaces. Later, the results of Hyers were generalized by Aoki [1], Găvruta [4], Rassias [22] and Gădarin and Radu [2].

Beginning around the year 1980, the stability problems of many algebraic, differential, integral, operatorial equations have been extensively investigated [9, 10, 13, 14, 22] and the references therein. Among of them, many research papers have been published about the generalized Hyer-Ulam-Rassias stability of homomorphisms and derivations in C\*-algebras and Lie algebras [3, 5, 6, 11, 12, 15, 16, 17, 19, 21].

A Lie algebra A is a linear space over some field F together with a binary operation  $[\cdot,\cdot]:A\times A\to A$  called the Lie bracket, which satisfies the following axioms:

$$\begin{split} &(\mathsf{L}_1)[\alpha x + \beta y, z] = \alpha[x, z] + \beta[y, z], \ [z, x + \beta y] = \alpha[z, x] + \beta[z, y], \\ &(\mathsf{L}_2)[x, x] = 0, \\ &(\mathsf{L}_3)\big[x, [y, z]\big] + \big[z, [x, y]\big] + \big[y, [z, x]\big] = 0 \end{split}$$

for all  $\alpha, \beta \in F$  and all  $x, y, z \in A$ .

Note that the bilinearity  $(L_1)$  and alternating  $(L_2)$  properties imply anticommutativity, i.e., [x,y] = -[y,x] for all  $x,y \in A$ .

A C\*-algebras A endowed with the Lie bracket  $[x,y] = \frac{xy-yx}{2}$  on A is called a Lie C\*-algebra. Let A be a Lie C\*-algebra. A  $\mathbb{C}$ -linear mapping  $D: A \to A$  is called a Lie derivation of A if

$$D([x,y]) = [D(x),y] + [x,D(y)]$$

for all  $x, y \in A$ . In addition, if D satisfies the additional condition  $D(a^*) = D(a)^*$  for all  $a \in A$ , then it is called a Lie \*-derivations.

Now, we consider a mapping  $f: X \to Y$  satisfying the following functional equation:

$$f\left(\frac{\sum_{i=1}^{n} x_i}{n}\right) + \sum_{j=2}^{n} f\left(\frac{\sum_{i=1, i \neq j}^{n} x_i - (n-1)x_j}{n}\right) = f(x_1)$$
(1.1)

for all  $x_i, x_j \in X$ , where  $n \in \mathbb{N}$  is a fixed integer with  $n \ge 2$ . Park and Rassias [20] proved the stability of homomorphisms and derivations in  $C^*$ -algebras of the Jensen functional equation (1.1) for n = 2. Gordji et al. [7] establish the stability of n-Lie homomorphisms and Jordan n-Lie homomorphisms on n-Lie algebras associated with the equation (1.1).

Motivated and inspired by the above works, in this paper, we investigate the stability and superstability problems for Lie \*-derivations associated with the generalized Jensen type functional equation (1.1) on Lie C\*-algebras. The present theorems generalized and improve many existing results in the Park and Rassias [20].

### STABILITY OF LIE \*-DERIVATIONS

Throughout this section, we assume that A is a Lie C\*-algebra with the norm  $||\cdot||$ . For convenience, we use the following abbreviation for any mapping  $f: A \to A$ ,

$$\Delta_{\mu} f(x_1, \dots, x_n) = \mu f\left(\frac{\sum_{i=1}^n x_i}{n}\right) + \mu \sum_{i=2}^n f\left(\frac{\sum_{i=1, i \neq j}^n x_i - (n-1)x_j}{n}\right) - f(\mu x_1)$$

for all  $x_1, \dots, x_n \in X \ (n \ge 2)$  and  $\mu \in T^1 = \{ \lambda \in \mathbb{C} : |\lambda| = 1 \}$ .

To achieve our main in this section, we used the following lemma.

**Lemma 2.1.** Let X and Y be complex linear spaces. Suppose that  $f: X \to Y$  is a mapping such that (1.1). Then the mapping f is additive.

Proof.It follow from

$$\sum_{j=2}^{n} f\left(\frac{\sum_{i=1, i\neq j}^{n} x_{i} - (n-1)x_{j}}{n}\right) = f\left(\frac{x_{1} - (n-1)x_{2} + \dots + x_{n}}{n}\right) + f\left(\frac{x_{1} + x_{2} - (n-1)x_{3} + \dots + x_{n}}{n}\right) + \dots + f\left(\frac{x_{1} + \dots - (n-1)x_{n}}{n}\right)$$

that



$$f\left(\sum_{j=1}^{n} s_{j}\right) = f(s_{1} + \dots + s_{n}) = f(x_{1}) = f(s_{1}) + \sum_{j=2}^{n} f(s_{j}) = \sum_{j=1}^{n} f(s_{j})$$
(2.1)

for all  $s_1, \dots, s_n \in X$ , where  $s_1 = \frac{\sum_{i=1}^n x_i}{n}$  and  $s_j = \frac{\sum_{i=1, i \neq j}^n x_i - (n-1)x_j}{n}$  for  $j = 2, 3, \dots, n$ . Putting  $s_j = 0$  for  $j = 3, 4, \dots, n$  in (2.1), we have

$$f(s_1 + s_2) = f(s_1) + f(s_2)$$

for all  $s_1, s_2 \in A$ . Thus the mapping f is additive.

**Theorem 2.2.**Let  $\varphi: A^n \to [0, \infty)$  and  $\psi: A^3 \to [0, \infty)$  be mappings such that

$$\sum_{m=0}^{\infty} n^m \ \varphi\left(\frac{x}{n^m}, 0, \cdots, 0\right) < \infty, \quad \lim_{m \to \infty} n^m \ \varphi\left(\frac{x_1}{n^m}, \cdots, \frac{x_n}{n^m}\right) = 0,$$

$$\lim_{m \to \infty} n^{2m} \, \psi\left(\frac{a}{n^m}, \frac{b}{n^m}, 0\right) = 0, \lim_{m \to \infty} n^m \, \psi\left(0, 0, \frac{c}{n^m}\right) = 0 \tag{2.2}$$

for all  $x_1, \dots, x_n, a, b, c \in A$ . Suppose that  $f: A \to A$  is a mapping with f(0) = 0 satisfying

$$||\Delta_{\mu} f(x_1, \dots, x_n)|| \le \varphi(x_1, \dots, x_n), \tag{2.3}$$

$$||f([a,b]) - [f(a),b] - [a,f(b)] + f(c^*) - f(c)^*|| \le \psi(a,b,c)$$
(2.4)

for all  $x_1, \dots, x_n, a, b, c \in A$  and all  $\mu \in T^1$ . Then there exists a unique Lie \*-derivation  $D: A \to A$  which satisfies the functional equation (1.1) and the inequality

$$||f(x) - D(x)|| \le \sum_{m=0}^{\infty} n^m \varphi\left(\frac{x}{n^m}, 0, \dots, 0\right)$$
 (2.5)

for all  $x \in A$ .

**Proof.** Let us assume  $x_1 = x$ ,  $x_2 = \cdots = x_n = 0$  and  $\mu = 1$  in (2.3). Then we have

$$\left\| nf\left(\frac{x}{n}\right) - f(x) \right\| \le \varphi(x, 0, \dots, 0), \tag{2.6}$$

for all  $x \in A$ . Replacing x by  $\frac{x}{n^j}$  and multiplying  $n^j$  both the sides of (2.6),

$$\left\| n^{j+1} f\left(\frac{x}{n^{j+1}}\right) - n^{j} f\left(\frac{x}{n^{j}}\right) \right\| \leq n^{j} \varphi\left(\frac{x}{n^{j}}, 0, \dots, 0\right)$$

for all  $x \in A$  and all integers  $j \in \mathbb{Z}$  with  $j = 0, 1, 2, \dots$ . Thus we have

$$\left\| n^m f\left(\frac{x}{n^m}\right) - n^k f\left(\frac{x}{n^k}\right) \right\| \le \sum_{i=k}^{m-1} n^i \varphi\left(\frac{x}{n^i}, 0, \dots, 0\right)$$
(2.7)

for all  $x \in A$  and  $m > k \ge 0$ . It follows from  $\sum_{m=0}^{\infty} n^m \varphi\left(\frac{x}{n^m}, 0, \cdots, 0\right) < \infty$  of (2.2) that the sequence  $\left\{n^m f\left(\frac{x}{n^m}\right)\right\}$  is a Cauchy sequence. Since A is a Lie C\*-algebra, the sequence  $\left\{n^m f\left(\frac{x}{n^m}\right)\right\}$  converges. So we can define a mapping  $D: X \to Y$  by

$$D(x) = \lim_{m \to \infty} n^m f\left(\frac{x}{n^m}\right)$$

for all  $x \in A$ . Moreover passing the limit as  $m \to \infty$  with k = 0 in (2.7), we have

$$||f(x) - D(x)|| = \left| \left| n^m f\left(\frac{x}{n^m}\right) - f(x) \right| \right| \le \sum_{j=0}^{\infty} n^j \varphi\left(\frac{x}{n^j}, 0, \dots, 0\right)$$

which implies the inequality (2.5) holds for all  $x \in A$ .

On the other hand, substituting  $(x_1, \dots, x_n)$  by  $\left(\frac{x_1}{n^j}, \dots, \frac{x_n}{n^j}\right)$  in (2.3), we have

$$\left\| \Delta_{\mu} D(x_1, \cdots, x_n) \right\| = \lim_{m \to \infty} n^m \left\| \Delta_{\mu} f\left(\frac{x_1}{n^m}, \cdots, \frac{x_n}{n^m}\right) \right\| \le \lim_{m \to \infty} n^m \varphi\left(\frac{x_1}{n^m}, \cdots, \frac{x_n}{n^m}\right) = 0$$
 (2.8)

for all  $x_1, \dots, x_n \in A$  and all  $\mu \in T^1$ . Let  $\mu = 1$  in (2.8). It follows from  $\Delta_1 f(x_1, \dots, x_n) = 0$  that



$$D\left(\frac{\sum_{i=1}^{n} x_i}{n}\right) + \sum_{i=2}^{n} D\left(\frac{\sum_{i=1, i \neq j}^{n} x_i - (n-1)x_j}{n}\right) = D(x_1)$$

for all  $x_1, \dots, x_n \in A$ . From Lemma 2.1 that the mapping D is additive. Letting  $x_1 = x, x_2 = \dots = x_n = 0$  in (2.3), we have  $\|\mu f(x) - f(\mu x)\| \le \varphi(x, 0, \dots, 0)$  for all  $x \in A$ . Thus

$$\|\mu D(x) - D(\mu x)\| = \lim_{m \to \infty} n^m \left\| \mu f\left(\frac{x}{n^m}\right) - f\left(\mu \frac{x}{n^m}\right) \right\| \le \lim_{m \to \infty} n^m \varphi\left(\frac{x}{n^m}, 0, \dots, 0\right) = 0$$

which implies  $\mu D(x) = D(\mu x)$  for all  $x \in A$  and all  $\mu \in T^1$ . By the same reasoning as that the proof of Theorem 2.1 of [18], the mapping D is  $\mathbb{C}$ -linear.

Replacing (a, b) by  $\left(\frac{a}{n^m}, \frac{b}{n^m}\right)$  and putting c = 0 in (2.4), we have

$$D([a,b]) - [D(a),b] - [a,D(b)]$$

$$= \lim_{m \to \infty} n^{2m} \left\| f\left(\frac{[a,b]}{n^{2m}}\right) - \left[f\left(\frac{a}{n^m}\right), \frac{b}{n^m}\right] - \left[\frac{a}{n^m}, f\left(\frac{b}{n^m}\right)\right] \right\|$$

$$\leq \lim_{m \to \infty} n^{2m} \psi\left(\frac{a}{n^m}, \frac{b}{n^m}, 0\right) = 0$$
(2.9)

for all  $a, b \in A$ . Also, if we put a = b = 0 and substitute c by  $\frac{c}{n^m}$  in (2.4), then

$$D(c^*) - D(c)^* = \lim_{m \to \infty} n^m \left\| f\left(\frac{c^*}{n^m}\right) - f\left(\frac{c}{n^m}\right)^* \right\| \le \lim_{m \to \infty} n^m \psi\left(0, 0, \frac{c}{n^m}\right) = 0$$
 (2.10)

for all  $c \in A$ . Thus it follows from (2.9) and (2.10) that D is a Lie \*-derivation on A.

Now let  $D': A \to A$  be another additive mapping satisfying (2.5). Then we have

$$||D(x) - D'(x)|| = \lim_{m \to \infty} n^m \left\| D\left(\frac{x}{n^m}\right) - D'\left(\frac{x}{n^m}\right) \right\| \le \lim_{m \to \infty} n^{j+m} \sum_{i=0}^{\infty} n^{j+m} \varphi\left(\frac{x}{n^{j+m}}, 0, \dots, 0\right)$$

for all  $x \in A$ . So we can conclude that D(x) = D'(x) for all  $x \in A$ . Thereforethe mapping D is a unique Lie \*-derivation on A satisfying (2.5), as desired. This complete the proof.

**Corollary 2.3.** Let r(>1) and  $\theta$  be positive real numbers. Suppose that a mapping  $f: A \to A$  satisfies

$$\begin{aligned} || \Delta_{\mu} f(x_1, \dots, x_n) || &\leq \theta(||x_1||^r + \dots + ||x_n||^r), \\ || f([a, b]) - [f(a), b] - [a, f(b)] + f(c^*) - f(c)^* || &\leq \theta(||a||^r + ||b||^r + ||c||^r) \end{aligned}$$

for all  $x_1, \dots, x_n, a, b, c \in A$  and all  $\mu \in T^1$ . Then there exists a unique Lie \*-derivation  $D: A \to A$  which satisfies the inequality

$$||f(x) - D(x)|| \le \frac{n^r \theta ||x||^r}{n^r - n}$$

for all  $x \in A$ .

Proof. The proof follows Theorem 2.2 by taking

$$\varphi(x_1, \dots, x_n) = \theta(\|x_1\|^r + \dots + \|x_n\|^r)$$
 and  $\psi(a, b, c) = \theta(\|a\|^r + \|b\|^r + \|c\|^r)$ 

for all  $x_1, \dots, x_n, a, b, c \in A$ . This completes the proof.

In the followings corollary, we show that when f is an additive mapping, the superstability for the inequalities (2.3) and (2.4) holds.

**Corollary 2.4.**Let  $A, \varphi, \psi$  be as in Theorem 2.2. If  $f: A \to A$  is an additive mapping with (2.5), then f is a Lie \*-derivation.

**Proof.** It follows immediately from additivity of f that f(0) = 0. Thus  $n^m f(x) = f(x^m x)$  for all  $x \in A$  and  $m \in \mathbb{N}$  and so

$$f(x) = n^m f\left(\frac{x}{n^m}\right)$$

for all  $x \in A$  and  $m \in \mathbb{N}$ . Now it follows from Theorem 2.2 that f is a Lie \*-derivation on A. This completes the proof.  $\blacksquare$  Next we prove another theorem in superstability of a Lie \*-derivation on A for the functional equation (1.1).

**Theorem 2.5.** Suppose that there exist mappings  $\varphi: A^n \to [0, \infty), \psi: A^3 \to [0, \infty)$  and a constant 0 < L < 1 such that

$$\varphi\left(\frac{x_1}{n}, \dots, \frac{x_n}{n}\right) \le \frac{L}{n} \varphi(x_1, \dots, x_n), \qquad \psi\left(\frac{a}{n}, \frac{b}{n}, 0\right) \le \frac{L}{n^2} \varphi(a, b, 0), \qquad \psi\left(0, 0, \frac{c}{n}\right) \le \frac{L}{n} \varphi(0, 0, c), \tag{2.11}$$

for all  $x_1, \dots, x_n, a, b, c \in A$ . If  $f: A \to A$  is a mapping satisfying (2.3) and (2.4), then there exists a unique Lie\*-derivation f on A.



Proof. It follows from (2.11) that

$$\lim_{m \to \infty} n^m \, \varphi\left(\frac{x_1}{n^m}, \cdots, \frac{x_n}{n^m}\right) = 0, \quad \lim_{m \to \infty} n^{2m} \, \psi\left(\frac{a}{n^m}, \frac{b}{n^m}, 0\right) = 0, \\ \lim_{m \to \infty} n^m \, \psi\left(0, 0, \frac{c}{n^m}\right) = 0 \tag{2.12}$$

for all  $x_1, \dots, x_n, a, b, c \in A$ . Putting  $x_1 = \dots = x_n = 0$  and  $\mu = 1$  in (2.3), we obtain f(0) = 0. Replacing  $x_1 = x, x_2 = \dots = x_n = 0$  and  $\mu = 1$  in (2.3), we have

$$f(x) = n^m f\left(\frac{x}{n^m}\right) \tag{2.13}$$

for all  $x \in A$  and  $m \in \mathbb{N}$ . It follows from (2.4) and (2.13) that

$$||f([a,b]) - [f(a),b] - [a,f(b)]|| = n^{2m} \left| \left| f\left(\frac{[a,b]}{n^{2m}}\right) - \left[ f\left(\frac{a}{n^m}\right), \frac{b}{n^m} \right] - \left[\frac{a}{n^m}, f\left(\frac{b}{n^m}\right) \right] \right| \right|$$

$$\leq n^{2m} \psi\left(\frac{a}{n^m}, \frac{b}{n^m}, 0\right) = 0$$
(2.14)

for all  $a, b \in A$ . Taking the limit as  $m \to \infty$  in (2.14) and using (2.12), we obtain

$$f([a,b]) = [f(a),b] + [a,f(b)]$$

for all  $a, b \in A$ . Also, if we put a = b = 0 and substitute c by  $\frac{c}{n^m}$  in (2.4), then

$$||f(c^*) - f(c)^*|| = n^m \left| \left| f\left(\frac{c^*}{n^m}\right) - f\left(\frac{c}{n^m}\right)^* \right| \right| \le n^m \psi\left(0, 0, \frac{c}{n^m}\right)$$
 (2.15)

for all  $c \in A$ . Passing the limit as  $m \to \infty$  in (2.15), we conclude that  $f(c^*) = f(c)^*$  for all  $c \in A$ . Therefore f is a Lie \*-derivation on A. This complete the proof.  $\blacksquare$ 

**Corollary 2.6.** Let  $r, r_j$   $(j = 1, 2, \dots, n)$  and  $\theta$  be nonnegative real numbers such that  $0 < \sum_{j=1}^n r_j \neq 1$ . Suppose that  $f: A \to A$ 

is a mapping such that

$$||\Delta_{\mu} f(x_1, \dots, x_n)|| \le \theta \prod_{j=1}^{n} ||x_j||^{r_j}$$
 (2.16)

$$||f([a,b]) - [f(a),b] - [a,f(b)] + f(c^*) - f(c)^*|| \le \theta(||a||^r ||b||^r ||c||^r)$$

for all  $x_1, \dots, x_n, a, b, c \in A$  and all  $\mu \in T^1$ . Then f is a Lie \*-derivation on A.

**Proof.** Putting  $x_1 = \dots = x_n = 0$  and  $\mu = 1$  in (2.16), we obtain f(0) = 0. Replacing  $x_1$  by x and setting  $x_2 = \dots = x_n = 0$  and  $\mu = 1$  in (2.16), we have

$$f(x) = n^m f\left(\frac{x}{n^m}\right)$$

for all  $x \in A$  and  $m \in \mathbb{N}$ . The remaining assertion goes through by the similar method to be the proof of Theorem 2.5. This completes the proof.  $\blacksquare$ 

**Remark.** Suppose that  $f: A \to A$  is a mapping with f(0) = 0 such that there exist mappings  $\varphi: A^n \to [0, \infty), \psi: A^3 \to [0, \infty)$  satisfying (2.3) and (2.4). Let 0 < L < 1 be a constant such that

$$\varphi\left(\frac{x_1}{n},\cdots,\frac{x_n}{n}\right) \leq \frac{L}{n} \varphi(x_1,\cdots,x_n), \qquad \psi\left(\frac{a}{n},\frac{b}{n},0\right) \leq \frac{L}{n^2} \varphi(a,b,0), \qquad \psi\left(0,0,\frac{c}{n}\right) \leq \frac{L}{n} \varphi(0,0,c),$$

for all  $x_1, \dots, x_n, a, b, c \in A$ . By the similar method as in the Theorem 2.5, we can show that there exists a unique Lie \*-derivation  $D: A \to A$  satisfying

$$||f(x) - D(x)|| \le \frac{1}{1 - L} \varphi(x, 0, \dots, 0)$$

for all  $x \in A$ .

### **ACKNOWLEDGMENTS**

The authors would like to thank the referee and the editors for him/her comments that helped them to improve this article. The first author was supported by Dong-eui University (2014AA473).



### REFERENCES

- [1] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan. 2 (1950), 64-66.
- [2] L. Cădariu and V. Radu, Fixed points and the stability of Jensen's functional equation, J. Ineq. Pure Appl. Math.4 (2003), No.1, Art. 4.
- [3] Y.J. Cho, R. Saadati and J. Vahidi, Approximation of homomorphisms and derivations on non-Archimedean Lie C\*-algebras via fixed point method, Disc. Dyn. Nat. Soc. 2012 (2012), Article ID 373904, 9 pp.
- [4] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436.
- [5] M.E. Gordji and A. Najati, Approximately J\*-homomorphisms: A fixed point approach, J. Geom. Phys. 60 (2010), 809-814.
- [6] M.E. Gordji and A. Fazeli, Stability and superstability of homomorphisms on C\*-ternary algebras, An. Stiint. Univ. Ovidius Constanta Ser. Math. 20 (2012), 173-188.
- [7] M.E. Gordji and G.H. Kim, Approximate n-Lie homomorphisms and Jordan n-Lie homomorphisms on n-Lie algebras, Abs. Appl. Anal. 2012, Article ID 279632, 11pp.
- [8] D.H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. 27 (1941), 222-224.
- [9] S.-M. Jung, Hyers-Ulam-Rassias Stability of Functional Equations in Mathematical Analysis, Hadronic Press, Palm Harbor, 2001.
- [10] S.-M. Jung, Hyers-Ulam stability of a system of first order linear differential equations with constant coefficients, J. Math.Anal. Appl. 320 (2006), 549-561.
- [11] S.S. Kim, J.M. Rassias, Y.J. Cho and S.H. Kim, Stality of n-Lie homomorphisms and Jordan n-Lie homomorphisms on n-Lie algebras, J. Math. Phys. 54(2013), 053501.
- [12] S.S Kim, G.Y. Kim and S.H. Kim, On the stability of  $(\alpha,\beta,\gamma)$ -derivations and Lie C\*-algebra homomorphisms on Lie C\*- algebras: A fixed points method, Math. Prob. Eng. 2013 (2013), Article ID 954749, 5 pp.
- [13] Y. Li and Y. Shen, Hyers-Ulam stability of linear differential equations of second order, Appl. Math. Lett. 23 (2010), 306-309.
- [14] N. Lungu and C. Crciun, Ulam-Hyers-Rassias stability of a hyperbolic partial differential equation, ISRN Math.Anal. 2012 (2012), Article ID 609754, 10pp.
- [15] A. Najati, C. Park and R.J. Lee, Homomorphisms and derivations in C\*-ternary algebras, Abs. Appl. Anal.2009(2009), Artical ID 612392.
- [16] A. Najati and A. Ranjbari, Stability of homomorphisms for a 3D Cauchy-Jensen type functional equation on C\*-ternary algebras, J. Math.Anal. Appl. 341 (2008), 62-79.
- [17] C. Park, Isomorphisms between C\*-ternary algebras, J. Math. Phys. 47(2006), 103512.
- [18] C. Park, Homomorvarphisms between PoissinJC\*-algebras, Bull. Brazil. Math. Soc. 36(2005), 79-97.
- [19] C. Park, Lie \*-homomorvarphisms between Lie C\*-algebras and Lie \*-derivations on Lie C\*-algebras, J. Math. Anal. Appl. 293 (2004), 419-434.
- [20] C. Park and J.M. Rassias, Stability of the Jensen-type functional equation in C\*-algebras: a fixed point approach, Abs. Appl. Anal. 2009, Art.ID 360432, (2009).
- [21] J.M. Rassias and H.M. Kim, Approximate homomorphisms and derivations between C\*-ternary algebras, J. Math.Phys. 49(2008),063507
- [22] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297-300.
- [23] S.M. Ulam, Problems in Modern Mathematics, Science Editions, John Wiley & Sons, New York, USA, 1940.